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G.G.28: Triangle Congruency 1: Determine the congruence of two triangles by using one of the
five congruence techniques (SSS, SAS, ASA, AAS, HL), given sufficient information

I In the diagram of A4BC and ADEF below, 3 In the diagram below of ADAE and ABCE, 4B and
AB =DE, ZA = ZD, and /B = ZE. CD intersect at E, such that AE = CE and
/BCE = /DAE.
A F
Cc
D
A
C B
E E
Which method can be used to prove B
AABC = ADEF?
1) SSS
2) SAS B
i) fIEA Triangle DAE can be proved congruent to triangle
) BCE by
1) ASA
2) SAS
. . — . 3) SSS
2 As shown in the diagram below, AC bisects ZBAD 4) HL
and ZB = £D.
B D
c 4 In the diagram below of AAGE and AOLD,

ZLGAE = ZLOD, and AE = OD.

G L
A
Which method could be used to prove
AABC = AADC?
1) SSS R E O : D
2) AAA
3) SAS To prove that AAGE and AOLD are congruent by
4) AAS SAS, what other information is needed?
1) GE=LD
2) AG=OL

3) ZAGE = /OLD
4) ZAEG= /ODL
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5 In the diagram of quadrilateral ABCD, AB | D, 7 In parallelogram ABCD shown below, diagonals
ZABC = ZCDA, and diagonal AC is drawn. AC and BD intersect at k.
A B g B
E
D o]

Which statement must be true?
1) AC =DB

Which method can be used to prove AABC is 2) £4BD=/CBD
congruent to ACDA? 3) AAED f ACEB
1) AAS 4) ADCE = ABCE
2) SSA
3) SAS
4) SSS

D C

8 In the diagram below, four pairs of triangles are
shown. Congruent corresponding parts are labeled
in each pair.

6 The diagonal AC is drawn in parallelogram ABCD.
Which method can not be used to prove that .
AABC = ACDA?
1) SSS
A C

2) SAS
3) SSA
4) ASA

B D
Using only the information given in the diagrams,
which pair of triangles can not be proven
congruent?
1) 4

B
3) C
D
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bisect each other.
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8 ANS: 1

c

. Opposite sides of a parallelogram are congruent and the diagonals of a parallelogram
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